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A taxi costs £3 plus £2 per mile. Write down a number sentence that
would tell you the total cost of travelling 12 miles (you don't need to
work out the answer)

There are 2.5cm in an inch, 12 inches in a foot, and 3 feet in a yard. How
many cm are there in 22 yards?

Sheffield United play Sheffield Wednesday. The total attendance is
20,700. The ratio of Wednesday fans to United fans is 7:2.
How many Wednesday fans are at the match?

Katy buys £300 worth of furniture. She receives a 23% discount.
Calculate the cost after discount.

A tablet has a retail price of £320. In a sale, there is a 19% discount on
tablet.
What is the saving if you buy three of these tablets?



